Summary for Section 7.3 ( is known)

	CLT for 
	C.I. = Confidence Interval
	Sample size n

	n > 30
Or
The population distribution is bell shaped to start with.

The C.L.T. for   says:

The sampling distribution for  will be bell shaped with:

 = 

 = 

 = the standard deviation of  s.
          = the standard error of the mean.
	 = Best Estimate  

Best Estimate = 

Error = 

So      

Example:

  = 180   5
Best Estimate =  = 180
Error = 5
C.I. is  
C.I. is   [L , U]

	You need a C.I. with high confidence (which means a specified level of confidence) and a small error (which means a specified E).

So the question boils down to:
How big the sample size should be to guarantee a high specified confidence and a small specified error.



n = 

When computing the sample size n, you always round up.
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Summary for Section 7.3 ( is unknown)

	CLT for 
	C.I. = Confidence Interval
	Sample size n

	n > 30
Or
The population distribution is bell shaped to start with.

The C.L.T. for   says:

The sampling distribution for  will be bell shaped with:

 = 

 = 

 = the standard deviation of  s.
          = the standard error of the mean.

S = Standard deviation of the sample.

[bookmark: _GoBack] = Average of the sample.
	 = Best Estimate  

Best Estimate = 
Error = 

So      

 t stands for the student t distribution in reference to the Statistician William Sealy Gosset.

The  can be found from the TI or read from a table.
Example:
  = 180   5
Best Estimate =  = 180
Error = 5
C.I. is  
C.I. is   [L , U]

	You will not have problems to compute the sample size needed when 
 is unknown
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FINDING A CONFIDENCE
INTERVAL FOR py WITH TI-83/84

Select STAT.
Arrowright to TESTS.
Select 7:ZInterval...

Select input (Inpt) type: Data or Stats. (Mostof
the time we will use Stats.)

Enter the standard deviation, o.
Enter the sample mean, X.

Enter the size of the sample, .

Enter the confidence level (C-Level) as a decimal.
Arrow downto Caleulateand press ENTER.
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FINDING A CONFIDENCE
INTERVAL FOR p WITH TI-83/84

Select STAT.
Arrow right to TESTS.
Select 8:TInterval.

Select input (Inpt) type: Data or Stats. (Most of
the time we will use Stats.)

Enter the sample mean, X.

Enter the sample standard deviation, Sx.

Enter the size of the sample, n.

Enter the confidence level (C-Level) as a decimal.
Arrow down to Calculate and press ENTER.
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